
Exploded diagram and spare parts list  GL190  

1 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 

 



Exploded diagram and spare parts list  GL190  

2 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 

Machine Explode  Code Description 

Buffalo 10Ltr Planetary Mixer  1 AF505 Flat Beater 

Buffalo 10Ltr Planetary Mixer  2 AF506 Hook 

Buffalo 10Ltr Planetary Mixer  3 AF507 Wire Whisk 

Buffalo 10Ltr Planetary Mixer  4  Gear Box 

Buffalo 10Ltr Planetary Mixer  5  Circlip 

Buffalo 10Ltr Planetary Mixer  6  Worm Pole 

Buffalo 10Ltr Planetary Mixer  7  Oil Seal 

Buffalo 10Ltr Planetary Mixer  8  Key  

Buffalo 10Ltr Planetary Mixer  9 AF508 Motor 

Buffalo 10Ltr Planetary Mixer  10  Fan 

Buffalo 10Ltr Planetary Mixer  11  Back Cover 

Buffalo 10Ltr Planetary Mixer  12  Nut - M5X60 

Buffalo 10Ltr Planetary Mixer  13  Spring Washer 

Buffalo 10Ltr Planetary Mixer  14  Connector 

Buffalo 10Ltr Planetary Mixer  15  Nut - M4X8 

Buffalo 10Ltr Planetary Mixer  16 AF509 Red Button  

Buffalo 10Ltr Planetary Mixer  17 AF510 Green Button  

Buffalo 10Ltr Planetary Mixer  18  Nut - M4X8 

Buffalo 10Ltr Planetary Mixer  19  Panel 

Buffalo 10Ltr Planetary Mixer  20  Nut - M4X20 

Buffalo 10Ltr Planetary Mixer  21 AF511 Micro Switch Housing 

Buffalo 10Ltr Planetary Mixer  22 AF512  Distance switch 

Buffalo 10Ltr Planetary Mixer  23 

AF542 Handle Assembly 

Buffalo 10Ltr Planetary Mixer  24 

Buffalo 10Ltr Planetary Mixer  25 

Buffalo 10Ltr Planetary Mixer  26 

Buffalo 10Ltr Planetary Mixer  27 

Buffalo 10Ltr Planetary Mixer  28 

Buffalo 10Ltr Planetary Mixer  29 

Buffalo 10Ltr Planetary Mixer  30 

Buffalo 10Ltr Planetary Mixer  31  Bearings 

Buffalo 10Ltr Planetary Mixer  32  Washer 

Buffalo 10Ltr Planetary Mixer  33  Spring 

Buffalo 10Ltr Planetary Mixer  34  Roller - 6X10 

Buffalo 10Ltr Planetary Mixer  35  Gear 

Buffalo 10Ltr Planetary Mixer  36  Gear 

Buffalo 10Ltr Planetary Mixer  37  Ring Gasket 

Buffalo 10Ltr Planetary Mixer  38  Gear 

Buffalo 10Ltr Planetary Mixer  39  Gear Shaft Sleeve 

Buffalo 10Ltr Planetary Mixer  40  Clutch 

 



Exploded diagram and spare parts list  GL190  

3 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 

Buffalo 10Ltr Planetary Mixer  41  Key - 5X25 

Buffalo 10Ltr Planetary Mixer  42  Key  - 5X30 

Buffalo 10Ltr Planetary Mixer  43  Key  - 5X30 

Buffalo 10Ltr Planetary Mixer  44  Main Shaft 

Buffalo 10Ltr Planetary Mixer  45  Gear Shaft Sleeve 

Buffalo 10Ltr Planetary Mixer  46  Gear 

Buffalo 10Ltr Planetary Mixer  47  Spring Washer 

Buffalo 10Ltr Planetary Mixer  48  Bearing 

Buffalo 10Ltr Planetary Mixer  49  Oil Seal 

Buffalo 10Ltr Planetary Mixer  50  Bearing 

Buffalo 10Ltr Planetary Mixer  51  Gear Shaft  

Buffalo 10Ltr Planetary Mixer  52  Key - 5X10 

Buffalo 10Ltr Planetary Mixer  53  Key - 5X10 

Buffalo 10Ltr Planetary Mixer  54  Gear 

Buffalo 10Ltr Planetary Mixer  55  Circlip 

Buffalo 10Ltr Planetary Mixer  56  Gear 

Buffalo 10Ltr Planetary Mixer  57  Circlip 

Buffalo 10Ltr Planetary Mixer  58  Bearing 

Buffalo 10Ltr Planetary Mixer  59  Bearing 

Buffalo 10Ltr Planetary Mixer  60  Key - 5X14 

Buffalo 10Ltr Planetary Mixer  61  Shaft Worm Gear 

Buffalo 10Ltr Planetary Mixer  62  Worm Gear 

Buffalo 10Ltr Planetary Mixer  63  Circlip 

Buffalo 10Ltr Planetary Mixer  64  Bearing 

Buffalo 10Ltr Planetary Mixer  65  Nut 

Buffalo 10Ltr Planetary Mixer  66  Spring 

Buffalo 10Ltr Planetary Mixer  67  Pin 

Buffalo 10Ltr Planetary Mixer  68  Declutch Shaft 

Buffalo 10Ltr Planetary Mixer  69  Shifting Yoke 

Buffalo 10Ltr Planetary Mixer  70  Inner Gear 

Buffalo 10Ltr Planetary Mixer  71  Hexagon Socket Cap Screw 

Buffalo 10Ltr Planetary Mixer  72  Circlip 

Buffalo 10Ltr Planetary Mixer  73  Gear 

Buffalo 10Ltr Planetary Mixer  74  Operating Shelf 

Buffalo 10Ltr Planetary Mixer  75  Bearing 

Buffalo 10Ltr Planetary Mixer  76  Running Shaft Support 

Buffalo 10Ltr Planetary Mixer  77  Bearing 

Buffalo 10Ltr Planetary Mixer  78  Oil Seal 

Buffalo 10Ltr Planetary Mixer  79  Key - 5X20 

Buffalo 10Ltr Planetary Mixer  80  Running Spindle  

 



Exploded diagram and spare parts list  GL190  

4 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 

Buffalo 10Ltr Planetary Mixer  81 AF514 Retainer Pin 

Buffalo 10Ltr Planetary Mixer  82 AD919 Bowl 

Buffalo 10Ltr Planetary Mixer  83  Screw 

Buffalo 10Ltr Planetary Mixer  84  Moving Clamp 

Buffalo 10Ltr Planetary Mixer  86  Back Shield 

Buffalo 10Ltr Planetary Mixer  87  Hexagonal Bolt 

Buffalo 10Ltr Planetary Mixer  88 AG149 Pin Block 

Buffalo 10Ltr Planetary Mixer  85 

AF543 Front Guard Assembly 

Buffalo 10Ltr Planetary Mixer  89 

Buffalo 10Ltr Planetary Mixer  90 

Buffalo 10Ltr Planetary Mixer  91 

Buffalo 10Ltr Planetary Mixer  92 

Buffalo 10Ltr Planetary Mixer  131 

Buffalo 10Ltr Planetary Mixer  93  Support 

Buffalo 10Ltr Planetary Mixer  94  Spring Washer 

Buffalo 10Ltr Planetary Mixer  95  Hexagonal Nut 

Buffalo 10Ltr Planetary Mixer  96  Screw 

Buffalo 10Ltr Planetary Mixer  97  Bracket 

Buffalo 10Ltr Planetary Mixer  98  Lock Nut 

Buffalo 10Ltr Planetary Mixer  99  Flat Washer 

Buffalo 10Ltr Planetary Mixer  100  Compression Spring 

Buffalo 10Ltr Planetary Mixer  101  Flat Washer 

Buffalo 10Ltr Planetary Mixer  102  Elastic Cylindrical Pin 

Buffalo 10Ltr Planetary Mixer  103  Connecting Rod 

Buffalo 10Ltr Planetary Mixer  104  Cotter Pin 

Buffalo 10Ltr Planetary Mixer  105  Retainer Spring 

Buffalo 10Ltr Planetary Mixer  106  Crank Lever 

Buffalo 10Ltr Planetary Mixer  107  Handle  

Buffalo 10Ltr Planetary Mixer  108  Stud 

Buffalo 10Ltr Planetary Mixer  109  Hexagonal bolt 

Buffalo 10Ltr Planetary Mixer  110  Base 

Buffalo 10Ltr Planetary Mixer  111  Hexagonal bolt 

Buffalo 10Ltr Planetary Mixer  112  Power Cord  

Buffalo 10Ltr Planetary Mixer  113 AF513 Gland 

Buffalo 10Ltr Planetary Mixer  114  Screw 

Buffalo 10Ltr Planetary Mixer  115 AF515 Contact Switch 

Buffalo 10Ltr Planetary Mixer  116  Hexagonal Nut 

Buffalo 10Ltr Planetary Mixer  117  Ac connector 

Buffalo 10Ltr Planetary Mixer  118  Fixing Plate 

Buffalo 10Ltr Planetary Mixer  119  Screw 

Buffalo 10Ltr Planetary Mixer  120  Screw 



Exploded diagram and spare parts list  GL190  

5 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 

 

Buffalo 10Ltr Planetary Mixer  121 AF516 Capacitor  

Buffalo 10Ltr Planetary Mixer  122 AF517 Capacitor  

Buffalo 10Ltr Planetary Mixer  123  Screw 

Buffalo 10Ltr Planetary Mixer  124  Fixed Plate 

Buffalo 10Ltr Planetary Mixer  125  Screw 

Buffalo 10Ltr Planetary Mixer  126  Hexagonal Nut 

Buffalo 10Ltr Planetary Mixer  127  Bracket 

Buffalo 10Ltr Planetary Mixer  128 AF518 Distance Switch 

Buffalo 10Ltr Planetary Mixer  129  Screw 

Buffalo 10Ltr Planetary Mixer  130  Hexagonal Nut 

Buffalo 10Ltr Planetary Mixer  132  Switch Shaft Pin 

Buffalo 10Ltr Planetary Mixer  133  Washer 

Buffalo 10Ltr Planetary Mixer  134  Switch Shaft Pin Spring 

Buffalo 10Ltr Planetary Mixer  135 AF311 Overload Switch (For GL190-B V4) 

 


